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REAL NUMBER QUESTION BANK

The value of 1/ (64) " is

1
a) 2
1
C) 16
After simplification, 1810
131/3
a) 138/15
) 1372/15

—2
The value of (0.00032) 75 is
a)l

)5

The number obtained on rationalising the denominator of

a) VT+2
45

o) \/75+2
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b) 132/15

d) 13%/3

b) 0

d) 25
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is

d) \/73+2

A rational number between -3 and 3 is

a)0

c) 1.101100110001 ...
If 9¥*2 = 240 + 9%, then x =

a) 0.2

c) 0.4

The value of 0.2 in the form %

2
El)g
2
C)E

The value of 7

1 1
2 .82 is

a) (28)"/2
o) (14)"?

The value of 1.9999.............

1999
1000

c)?2

b) -3.4

d) -4.3

b) 0.5
d) 0.1

where p and q are integers and g # 0 is

b)

®|— o=

d)

b) (56)%/2
d) (42)"/2

...... in the form %, where ‘p’ and ‘q’ are integers and q # 0, is

b)%

d)g
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

1
2,/3—4/5

The rationalisation factor of is

a) (\/§+ \/5)
ORVEEPAVES

The simplest rationalisation factor of (2\/5 — \/g) is

a) V2443

©)2v2+3
The simplest form of 0.57 is
26
Vs

57
) Too

L

. . 2 .
An irrational number between - and 7 is

1 2
a - =
) 7 X 7

9 (r3)

An irrational number between \/5 and /3 is

a) (\/5 + \/§)
C) 51/4
o V2-1 .
If /2 = 1.4142, then T is equal to
a) 0.1718
c) 0.4142

If x = 4/5+ 2, then x - % equals
a) 2
) 2v/5
The sum of 0.3 and 0.4 is
a) %
) %

= L
If /5 = 2.236, then =

a) 44.72

€) 0.04472

1

) ~
If g=ts + 4t 2 , what is the value of g when t = 64?

a) 32—1
) 32—3
Which of the following is rational:

a) V3

0
C)Z

b) V12 + /5
d) v3+2v5

b) 2v2+ V3
dv2-+V3

b)%

d) none of these

b) none of these

D3(2+3)

b) V2 x V3
d) gl/4

b) 5.8282

d) 2.4142

b) 4

d) /5

b) L

d)

©o |3

b) 0.4472

d) 4.472

b)%

d) 16

b)

(=3 "N

d)w
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35.

36.

37.

38.

39.
40.
41.

42.
43.

44,

_ 2
Ifz= 347’
a) 7 b) 3
)6 d)1

1
The value of [(81)%] ?
a) -3 b) 9
)3 d) 3
The simplest rationalising factor of V3+ 45 Jis

a) V3+ V5 b) V3 -5
AvV3-5 d) 3—
The value of (243)'/ is
a) 5 b) -3
03 d) 3

The value of {2 - 3 (2 - 3)3}3, is:

a) 1 b) 125

¢) -125 d) £
Solve the equation: 2X3 = 4%,
If (x - 1)3 = 8, what is the value of (x + 1)2?

If x = 2 + 1/3, find the value of x2 + ;—2

Evaluate by removing the radical sign and negative indices wherever it occurs: (64)3.

Find the value of x, if 5¥3 x 32%-8 = 205

Simplify the following: v/16 x v/2 .
(2/45+3+/20)

25 '
Find the product of (8 + 3/2) and (8 — 3/2).

Simplify 33/4 x 31/4,
Simplify the following expression: (5 + 1/7) (5 - /7).

~1/4
Simplify: Y2 4 (ﬁ) - (;

Simplify:

364 625 64 \2/3
)
If /2=1.4142, find the value of g: .
_ v L s 2,2
Ifx= = andy = N find the value of x* + y~ + xy.
3

Simplify: (256)

If a = 2+ /3, then find the value of a — %
Find the value of —* > T L 7 T 2 1
(216) 3 (256) 4 (243) 5

. . 1
Rationalise: —\/ﬂ i

Rationalize the denominators of

_ 25 26
Ifa= —f and b = TR

1
V-2
then find the value of a2 - b2.
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45.
46.
47.
48.

49.

50.
51.

52.
53.
54.

55.

56.
57.

58.

59.
60.

VE-2  B+2

Simplify the following by rationalizing the denominator :
Simplify3+v/250 + 7v/16 — 4v/54

Solve the equation for x: 324 + 1 =2 x 3%*2

Find the values of a and b in each of ﬁ+ﬁ_ =a—b/6

3v2-2,/3
. . . . .. . C4+E 4—/5
Simplify the following by rationalizing the denominator: Y + -

Express in the form of %:0. 38+1.27
Write the following in the descending order of magnitude. /2, /3, /5.

Ifa= 3+\/_ , then find the value of a? + =
Ifa= % and b = ? ? ,,show that 3a2+4ab—3b2=4+@\/10.
o V3—2 o V3+yv2 2 2
Ifa= ‘/_j/- NG and b = \/\;_ Nk find the value of a +\/b_ 5ab.
10
Ifx = 513 andy = = \/_,showthatw—y— -

Represent each of the numbers /5, /6 and /7 the real line.

If x is a positive real number and exponents are rational numbers, simplify

b b+c—a = ct+a—b 20 a+b—c
(=) =) -G

Ifa= vail and b = V2L , then find the value of a2 + b2 - 4ab.

Va1 , f+
9" %32 x ( "/2) —(27" 1
If g = =, prove thatm-n=1.
X
73 2f 3v2

Simplity: 7577 ~ vE ~ VEeava
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